[ Efficiency vs vertpos |

0.5

0.45
0.4
0.35]
0.3
0.25
0.2
0.15
0.1
0.05

AL ARLE LRREE RRNRRRRN RRRLD LERRY LRRLN LRRR

TT
: :
....—.*—..E.....:. P
_’:.*_ N
——
e

VS

E #u

fa) miNT | 1 | L L1
- T+
L <+

1}-0-» + b L SRRt
o <+ |+

0.95

1072 107 1 10 10?

—=— DQM_DisplacedSUSY__mkFit_BDT_

Efficienq —— pom_DisplacedSUSY__mkFit_

0.5

0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1
0.05

Vs

[y

< !
H tH-3-44 44 - - oo - -

- 4- - + 444441 - ¢4 I'

0.95}

=30 -20 -10 0 10 20 30

[ Efficiency vs. sim PV z |

0.5

0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1
0.05]




	Contents
	Page 1


